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Example

e Suppose seven candidates for three
seats:

(@)

Aardvark
Bobcat
Cheetah
Dingo
Eagle
Fox

Goldfish

Image credits on last slide




Votes

e The votes are cast like this:

1st Aardvark = Bobcat | Cheetah Dingo Eagle Fox Goldfish
preference
2nd : :
Bobcat | Cheetah Dingo Eagle Dingo Fox
preference
3rd :
Dingo Bobcat = Cheetah Fox
preference
Number of
ballots 4 7 1 3 1 4 3

Q)



Tallying: Regular STV

Votes for each option

Step Aardvark = Bobcat | Cheetah Dingo Eagle Fox Goldfish
The quota is 6:
i) total votes / (options to choose + 1) + 1, rounded down
I =23/(3+1) +1, rounded down
= 6.75, rounded down
=6
7
Step 1 4 ELECTED 1 3 1 4 3
(1surplus
vote)



Tallying: Regular STV

Votes for each option

Step

Step 2

Step 3

Step 4

Step 5

Aardvark

Bobcat

ELECTED

ELECTED

ELECTED

ELECTED

Cheetah

eliminated

eliminated

Dingo

=6
ELECTED
(O surplus
votes)

ELECTED

Eagle

eliminated

eliminated

eliminated

Fox Goldfish

4 3
4 3
4 3

4+2=6

ELECTED e

eliminated
(O surplus
votes)
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Meek (or L
"Scottlsh“) STV ‘ A

Meek STV introduces a "keep factor"
and fractional transfers of surplus
votes from elected candidates

This is performed alogrithmically W L

Photo by Kenneth Allen, CC BY-SA 2.0



https://unsplash.com/@element5digital?utm_source=unsplash&utm_medium=referral&utm_content=creditCopyText

Votes

The votes are cast like this:

1st Aardvark = Bobcat | Cheetah Dingo Eagle Fox Goldfish
preference

2nd : : :

Bobcat | Aardvark Dingo Eagle Dingo Goldfish Fox

preference

3rd :

Dingo Bobcat = Cheetah Fox Bobcat
preference
Numberof =, 198 17 189 182 176 149
ballots

Q)



Tallying: Meek STV

The quota is 317:
total votes / (options to choose + 1) + 1, rounded down
=1,266/ (3 + 1) + 1, rounded down
= 317.25, rounded down
= 317



Tallying: Meek STV

Step

Step 1
Quota: 317

Step 2
Quota: 317

Q)

Nobody meets the quota, so we must first eliminate a candidate as normal.

Fox meets the quota and is elected.

Votes for each option

Aardvark | Bobcat @ Cheetah Dingo Eagle Fox
201 198 171 189 182 176
176 + 149
201 198 171 189 182 =325
ELECTED

Goldfish

149

eliminated
(149)



Votes after Step 2

The ballots currently look like this:

Ist Aardvark = Bobcat | Cheetah Dingo
preference

2nd Bobcat | Aardvark Dingo Eagle
preference

3rd Dingo Bobcat @ Cheetah
preference
Number of 201 198 171 189
ballots

Q)

Eagle

Dingo

182

Fox | Gotdfsh

Gotdfish  fex

Bobcat

176 149

(exhausted)



Quota change

When ballots become Total votes - Excess votes
exhausted, the quota changes
according to the formula: Seats +1

In our example, Goldfish was eliminated, leaving 149 exhausted ballots:

.. 1,266 - 149
eliminated

(149)

3+1

Therefore, the new quota is 279.25. This is calculated after every step.

Q)

New quota isTN7 / 4
=279.25



Surplus votes

When a candidate is Winning quota
elected, surplus votes are
transferred using a formula: Votes for that candidate

This number is different for every elected candidate. It is known as the "keep factor".

In our example, Fox was elected with 325 votes:

— 279.25 Keep factor is 279.25 / 325
ELECTED = 0.8592307692
325 = 0.86

Therefore, Fox can "keep" = 0.86 of their votes and still be at the winning quota.

Q)



Tallying: Meek STV

So, let's transfer Fox's surplus votes to the next choices on their first-preference ballots.
These are transferred using the formula (1 - keep factor) * total votes.

This can in theory include transfers to other elected candidates, but in this case it does not.

Babeal tsoltr;||t lal vote + 1- Fox's keep factor * Fox's total votes = Bobcat's new total
198 + (1-0.80) * 325 = 2435



Tallying: Meek STV

Votes for each option

Step .
Aardvark = Bobcat | Cheetah Dingo Eagle
Keep factor 1 1 1 1 1
198 + (1 -
it‘_agfg . 201 0.86) * 325 171 189 182
Quota: 279. - 2435

Fox

0.86

=325*0.86
=279.5

Goldfish

eliminated



Tallying: Meek STV

Nobody meets quota, so we eliminate the candidate with the least votes (Cheetah) and distribute to their
next-preferences.

Dingo meets the quota and is elected.

Votes for each option

Step . .
Aardvark | Bobcat @ Cheetah Dingo Eagle Fox Goldfish
Keep factor 1 1 1 1 1 0.86 —
- =189 + 171
S;tég;'g e 201 2435 i "(’1’91‘)’ =S = 360 182 2795 eliminated
Quota: 279. ELECTED

Note that the quota remains the same, since these actions do not exhaust any ballots.

Q)



Votes after Step 4

The ballots currently look like this:

Ist )
oreference Aardvark = Bobcat @ Eheetal  birge
2nd Bobcat | Aardvark Birge Eagle
preference g
3rd bBirge Bobcat Cheetah
preference
Numberof = 54, 198 7 189
ballots

Q)

Eagle

182

Fox | Gotdfsh

Gotdfish  fex

Bobcat

176 149

(exhausted)



Tallying: Meek STV

We work out a new keep factor for Dingo and transfer their votes.
In the next round, we eliminate Aardvark and transfer their votes as normal.

Bobcat now meets the quota and is elected.

Votes for each option

Step . .
Aardvark = Bobcat | Cheetah Dingo Eagle Fox Goldfish
Keep factor 1 1 1 0.78 1 0.86 —
=182+ (1 -
— *

Step 5 201 2435 eliminated | ~ 220" 078 | 7g)x360 2795 eliminated

Quota: 279.25 =280.8 _
= 261.2
- = 2435 + 201

Step 6 - -

i ?';79 e 2l ”;é’;%ted - 4445 | eliminated 280.8 2612 2795 eliminated
Quota: 279. ELECTED

Q)



Results as charts

The following slides depict the same information as charts, showing
visually where the surplus votes were transferred.
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Step 4
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Step 5
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Step 6 B Votes [ Loss | SUIplus
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